5

MIERKA |C.V.
1:5000

©
-
o
N
S
1
©
i=4
9
5 o
o X
N>
= ®
- U
[
2%
S ©
X T X
0 .
Ll 2N =
Lt = £ o0
[ 1
= Lt - '®
<< o © = .
= Wl 3N 0D
_AN = w ,edn
w X = o= E ﬁtl.w
LB == 28~ = VD~
DW =5 = . N SW ® + N
VW TAE = — = 2 T s el ses
+ wmv < KAV WN vcvcvcvc
W = O = KA|nKO =2 = (=== R |
== =) o © o oz o
== x5 I L W X E = KNNANn
M aSsSw ooy BN s <o 1L
N N = = g = i = w=dd
(] 25 S ) S==F030 ooon
=== .1 7 2 a T TS < 3 )
[ = =N z O===FJF o= o== II I .
s P NIETXE 5 i W >
Ll 1o YaoN . W.AZNRO << <C _FZZZ =
S>> oN 0 < A E=T=S == NSSS L
Ll me L o E===5ao . < 4
= = =L L = = Zo o N N N =
NNMWNMTTTTNMNEEMPP w99 Y
e iB8Be=<LEZZ S O> > > w
EEVWW%FFWMWZKJ%&W OxXxXx i
FED D EREESS8E2 2288 0233
m LT T T T T T T T RN R ,ANHWWW
N e T e I 3y , rTodad
— |1 1 = L) I <
> H m |l . >
S HEH o <R — Eh
o | 1 mfy O ealian) =Z22Z2Z
= M EE mimEEH SNRN
o |! 1 z H
= |! 1 H N\ "
= |! 1 u%l u ..
< I I . L= | L LI I el w
2 ] T T ™ 3
g > ! _ 1l 4
o® = _ ! L a
w s ||| N NHIE o
- L] LI L L L[] o

AA\\% &\V\ \\ ») z
s

-
-
-~ -

%
il\

Wiy
o IRLL/ Nm"

7
/ \\\\\\\\\\\

i
[ T 4
S




